M=RERE (7 h—RILK,

A AKFREKN=1.0)

1. HiE= RFHEYME2ARMRELERNI= Y (ZHEFE/ SRILIARAH . FIFEHRMEAALL) |
2. f4#=  |PLFY-P140LMG4#% |
3. WHRFETEIsE
(KRBEEELHS) w=| 585 |ke
(27vh—RILk
O#FHK N=| 4 E3
@Y 1R Foik M= 10 |
@1 A H =Y DBRUFEE (FFE (2L M ER) A=| 78 |mmid  78x10° |2
OWBEBEERBEDIIRYER TSR EOTA—RILOBALR Nt=| 2 E3
@ENELYRBELETORS He=| 217 lmm=[ 0217 m
(BT BHAD DAL R L= 574 |mm= 0574 |m
(BREAT AR DH AR SEBREDETO IR Le=| 287 Jmm(Le=L-2)= [ 0287 |m
4. BREHE(REQ/PMRUTHMEZEIERAALTEL)
(DFEFAKERE Kh=| 10 \
@B RRERE Kv=Kh2=] 05 \
(B AKEMED Fh=Kh-W-9.8=| 5733 IN
(DBERRERR D Fv=Kv-W-9.8=] 286.7 IN
(BFvh—HRILEDBIRA Fh-Hg+(W-9.8+Fv) *(L-Lg)
L-Nt = 3234 IN
(67U h—RILLD &AM Q=Fh/N=| 143.3 IN
D7 h—RILMNZET BHENE
D3IE/BHE 0=Rb/A=] 41 |MPa< ft=176.4MPa
Qe AW HE T=Q/A=| 18 |MPa<fs=132.3MPa
QBIRELAMERFIZZITHHE fte=14ft—167 =| 244.0 |MPa
o= [ 41 |MPa < fts=| 244.0 |MPa
BYF U h—HRILEDIET %
D7 vHh—RILEDIET R =[EALITU- \
@avyy—toES = 150 lmm= 015  |m
QRILEDITARS = 110 lmm=[ 011 |m
@FEBIRME Ta=| 3528 | N > Rb=[ 3234 |N
LEOBEHEREIVTUA—RILMNE+RH2EEEET 5.
FEFHERTUI-FIMNIDVTHOERERFAETHY . REDOTMEBELZRIIT2IDOTRHYFEEA.
5740 y 1494 R
LYY VA A A A A
g
X8 -
—H—@ || 4 /9 | mem
7 << yan =
BEMIE /
o710 e
1
=HEMHR A ferL B 16/5/21 | HHEES WYNB1-1849 BN

2))



M=RERE (7 h—RILK,

A AKFREKN=20)

1. HiE= RFHEYME2ARMRELERNI= Y (ZHEFE/ SRILIARAH . FIFEHRMEAALL) |
2. f4#=  |PLFY-P140LMG4#% |
3. WHRFETEIsE
(KRBEEELHS) w=| 585 |ke
(27vh—RILk
O#FHK N=| 4 E3
@Y 1R Foik M= 10 |
@1 A H =Y DBRUFEE (FFE (2L M ER) A=| 78 |mmid  78x10° |2
OWBEREEAIBEDIIRYER B R BOTA—RILOBERK Nt=| 2 E3
@ENELYRBELETORS He=| 217 lmm=[ 0217 m
(BT BHAD DAL R L= 574 |mm= 0574 |m
(BREAT AR DH AR SEBREDETO IR Le=| 287 Jmm(Le=L-2)= [ 0287 |m
4. BREHE(REQ/PMRUTHMEZEIERAALTEL)
(DFEFAKERE Kh=| 20 \
(B ARERE Kv=Kh,2=| 10
(BEAATEHERS Fh=Kh-W-9.8=| 1146.6 IN
(DBERRERR D Fv=Kv-W-9.8=] 573.3 IN
(BFvh—HRILEDBIRA Rp— _FhrHe+(W-9.8+Fv)-(L-Le)
L-Nt = 503.4 IN
(67U h—RILLD &AM Q=Fh/N=| 286.7 IN
D7 h—RILMNZET BHENE
D3IE/BHE 0=Rb/A=] 6.5 |MPa< ft=176.4MPa
Qe AW HE T=Q/A=| 37 |MPa<fs=132.3MPa
QBIRELAMERFIZZITHHE fte=14ft—167 =| 241.1 |MPa
o= | 65 |MPa < fts=| 241.1 |MPa
®TF v h—HRILEDET %
D7 vHh—RILEDIET R =[EALITU- \
@avyy—toES = 150 lmm= 015  |m
QRILEDITARS = 110 lmm=[ 011 |m
@FEBIRME Ta=| 3528 | N > Rb=[ 5034 |N
LEOBEHEREIVTUA—RILMNE+RH2EEEET 5.
FEFHERTUI-FIMNIDVTHOERERFAETHY . REDOTMEBELZRIIT2IDOTRHYFEEA.
5740 y 1494 R
LML LYY VA A A A A
g A
R|&| -
+— | —+ ® N
Wl
< 7 << yin -
BEMIE /
o710 e
1
=HEMHR A ferL B 16/5/21 | HHEES WYNB1-1850 BN

2))



	WYNB1184907
	WYNB1185007

